- 80.°  From the 2 x 2 contingency table,

the expected frequenmes are

h@/1723812

(9 12,28, 8,12

(E) Answer'noj: known

- [12728
113] 7

A 17,23, 8,12
1288800
(EB) L G]g,rﬂﬂﬁ@ﬁlsb@mw

(B 15,25,10,10
(D) 13,17,20,10

Gresm 2 x ﬂ@@@@ﬁﬁﬂ ui.@u.rsﬁ]@fbgu, Grﬁfrunfrgg,eh 216 CleuemT L1t ig w16

®B) 15,25, 10, 10

D) 13,17, 20, 10

81. For testlng populatlon variance o2 = o¢ the statistic ;( 18 glven by

@ peons

.

(n '—_2")82 e
e

e

(E) Answer not knowh_

) @@@m@gﬂr@@ LDITQ;}ILJ[T@ 0' = 0'0 : urﬂ@&rrg,emmuﬁ]a) uumu@ggyu@,m ahgﬂ LaRTLeTaney S

| ._';( Grem'ug; s

) M

(E) e Gsflueldamen

B 2=

'(D)_ =2

n 8> ;
2

o?

ns -

CSST/2022
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82.  If the population proportions are distinctly different, the S.E (p,-p2)=

PQ, PG,
n - Ny

©) \]PIQ{;%*;H
1

(E) Answer not known

- pupews Aergduden eldlsd Geueu@eugn s, S;E(.p.l.' = Py)=

(23
’ : 1 2.._

- (B) e Qgrﬂu_laﬁlsbcma)

83. .Ir_l test for proportion, we test
| (A) _Dependence-_df attributes.
- (B) Independénce' of _attﬁbutes- |
)  Presence and absence of attributes
' .(D) Mean and variance of attributes
- (B AnS\;'ér not known -
- dls G&ngéﬂmu&]@b, BITLD G&wé.] LILgy SE <pGWD.
(A s usu'urq#nr'r- e | |
(B) &rrr'r.a_iﬁ)lgp LIGRTLIEMT -
- (C) Qs&mu&nrﬂm Goementd ILDg').@]Lb ooy
D) us&iTu&&iﬂehr E.U‘I'I'&Fﬂ DpHMID LFeuDLIG .
(B e e

cesppens, - a



. 84,

test is for testing simple or comp051te null hypothesm agalnst smlple or

comp031te aIternatzve hypothesis.

(A)

Most Powerful

\V Likelihood Ratio -

(O Uniform Most Powerful -
- (D) N-P Lemma |
(E) Answer not known

G&ng,emmu_frrm@ FITE TTEwT (Qm) am_@ (0TI Gr('b\('o’aarfm erdlim &rrgrnjmrr (&q) am_@\

Lnrrﬂ)gu er@@asrrm Cengevar Gleiw ummm@a%lmgj
2 (A) L&Gﬁ)&igé‘ﬂ)@'ﬁr

B)  Pspssss s

(©) - Egnew Lﬂmagﬁmsﬁ

.(D)__ | G@mé&l Swirger ggjsmsm @g,ﬁ);p' |
(B o GsMucidee

' 85.  Area of the crltlcal region depends on

WSIZB of type I error

(B) . Size of type II error
(Cy  Value of the statlsti_c
'.(D) Number of observati.o'n _
(E) Ans.s.)ver not known
- Siey 654-_.1_ UGS e ﬁﬁuum@{ —~————~— SN HE) gﬁm@};
(A @ﬁ:‘i’ QUGS @mmeﬁ =266y : |
“(B) @'gém_m sﬁsm_a; l_(ﬂGif}ic_QU_(ﬂ@T .ﬁlsﬁm :
| (8)) : qsi‘rraﬂUE]ﬁJGb I_IGD:OTLJ.GTGDJGUUEIQT &l
D) _Grs&aTmﬂé,@aa SeTL_Hlge 5
B e CivaRae

e L . CsST/2022
5 : Sy -3 v : [Turn over



86.. If x>1,is the critical region for testing Hy:0=2 Vs H, . @ =1. On the basis of single
: observation from the popula_tion. f(x, O)=0(exp—0x), 0Sx<0.. Obtain the value of
“ type 11 error. ; ' :

o e e
; e - : it
= ? e.__ : . - Gl - :
w e : : s (D) e—1

B Answer not known

@Gy @@.amdﬂ@m Qa;rr_e_;c'rsn_'@@cbm_ Qs f(x, 9)%9(éxp—6'aé), 033@«:5 G&ng%lésq;,l. ;
H,:6=2 Vs H, @ =1en Siey SLLI uEd x21 aafid igan @rarLrd euas G

. samsdle|b.
e | @
_ o - _ L&
: Cpa] : - e
) Dy ~——
e _ : e—1

® e Osfucons

87. Uniformly most plc')werful test is appliéd for testing
| (A)  composite H, against composite H; =
| -(B) - chposité -H-D aga.inst simple H,;
: \V simple HO égains’t composite H,
(D) simple H, against el
(B AnsWer not known
. Egment Lﬂ@&é:ﬁg‘ﬁ)@f wn@ﬁ;g'@&ng@e&rm Teoigy T Gangene QeiLLwe @aﬂg’jgj;
Q) s Hy adiam G H ' ' -~ |
(B) ml‘_@H_O GTQr'ra;rrngrrmuT Hl.
(C) sngmyewr Hy ardli gatl (B H1
i (D) sngyent Hy .Gl'élff &ng,rrr;@ H, .
(@ e Qsfucidae '

© CSST/2022 = 2 B i



- 88, The test statistic' t = X~ & is used to test. -
- S/In |

: (A) Hozﬁzyﬁ wheﬁ'q is_.'know'n. -
- % _HOH.‘,Q: ,QO when cr. 1s unkhown
C) HO: = _When o is known -
D) Hy:p=p, when o is unknown
() - Anéwer ndt know.n'
(E&rrg,mm qmaﬂuﬁlmsu @pm@ﬁ’@ t= X/\/E LILIGHTL L_ssamar@ @&ngémmwnm@

{A) _Hoz;f=y0_,_ J—Gg,rﬂ;‘ag ggl@su.uﬁlau
By H, -:;):%,’ U-G]g_rﬂmfrg, ;Fﬂsmvuﬁ]e‘v

O Hyu=p, o-Gsfss femie
._'(D) | HO =ty Qgrﬂmng;ﬂmmuﬁ?ev '
(E) * e Grg,rﬂu.raﬁ]eumao '

89. The term (1 a) is -
(A) The probablhty of Type I error
(B) . The power of a test 3
(©) The probab1hty of Type II error
W The probability of not reJectlng the null hypothe51s when it is true
(E) Answer not known : '

(1-a) m’eirrug,j :

B Bl o auans ey

® (é&rrgsmmuﬁ]e&rﬁméh%@&

© @a@gmﬁlm@gmqm@m Qe _

D) Hspsseien Hys ﬂasgpg,as@ﬁ]em 8 gosLLBeug /Hc. &rﬂu_rrrfau'@

(E) '”asnm Opflucioma

e - e  cssmzo22
: : P2 i : - [Turn over



90. Let the probablhty density functlon of the populatlon be f(x, 9):—, 0<x<0. Let

{x 0. 5<x} be the crltlcal region based on single observatlon . Then the size of :

the Type I error for test_;ng H,=0=1,is

(A) 0.25
\V 0.5
Y098

o 1

(E) 'Answerﬂnot' know_n '

.@@ @@Gﬁ)mg, G]g,rr@ﬁuﬁ]@‘r {rﬁ]esgpg)a;m @u_ng;ﬁ &L f(x, 9)——, 0<x £ 0 erans.

W= {x 0. 5<x}m&mugﬂ @@ meﬂumu é;qmruusml_mrra; Qara_ @b ﬁrreqem_l._ u@é] TENS.
Hy=6=1 eaip aHGsrafien (B&r_rgs_ﬁ)wuﬁ]sm &6 cuans (Aenpullan BieTey, : :

(A) - 0.25

B s
(C) 0.75
™ 1

(B oo Opfucdame

9L Maximum 1i_kelih06d estimators are always
. (A) 'unbiasé'd estimators '
V consistent estimators

_(C) sufficient estimators

D) . efficient estlmators %

_(.E_) Answer not known -

'LSQQLJ@ ;ﬂa;ggeﬁhusbq S _Teng Gnli_@urr@uﬁ
@) Gppéfupp wHiS L '
(B) QuITEBSSAPENL LI m@t;ﬁiﬁl;l_rrﬁ'ﬂ

(C) Gumrgwme LD@L:-ISL'_L__NG'OT"

D) Sogmer wHLSLLTE

(E) s @QGFJL_ Qgﬁlmaﬂd}mw

CSST/2022 e T . -



a2,

93.

Ina randorﬁ sampling from N{(u, -0'2_) the MLE’s of u and o? are ———————-——-, =
: n b : = = | ) : B2
@) f=Yx and 62=) " (B) 4=Yx and 62=Y%
: =l = ; S e =l BB
% - Azl o ; | = ooy .
W)  f=X and & == > (x. - %) D) p=X% and 6°=—"_ (x; —X)
e g . e
(E) Answer not known
Nu o) erep @ueuﬁ,]emuu ugsueﬁ]@pg &Gm@&@w@un@ i, 0'2 %ailtuemma;aﬂm
Lng‘,}uiﬁl_rrsmgu LSuQu@J ;Elasg_:ges& mgﬂuﬁ@ @mg}u_‘ﬂsn — \ - - B4 GLD. :
] ; n E 5 n.. e . Sl x
@ a=yx mmng 22w B A=Y wppo 6 Z;
: =1 i i i e il
: : .- A 2 . % .- b A2 1L.& — = e : ._' A2 1 Eiis . )
© A% opp> *== 3-8 @) =5 wppid 6*=—L 35—z
i o g : X i = . o n—1 i=1
(E) ﬂm@_@grﬂ:uaﬂ@mw
In the maximﬁm_likelihood estimation @ is the _sblution if
- o e SE. gy -
A £250 and sy o By bl end A
G e e 0 e
. - - S : o
pEEEL L
N o - 00° - 06 . 886
Aty An_swer not knéw’n :
: :-LSuQu@ﬁ]ang,ga;es Lngﬁlulﬂu_m@aj @emgnuﬁTGu 8- aﬂ,rp@ St denés, (Egsmsuu_m'w,r_ﬂu,r_ﬁgmm
Gram_@ A
o &L . oL FE
A)  —>0 wpmb —=<0 B) ——<0 0
@) 52>0 whg 7o o ®) ) mwm 7>
ol o | : aL &L
C —=0 whmd ——<0 D =0 >0
o m o D e 06"
- (E) - eflen AzNweldeame
L e CSST/2022
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94,

In Rao- Blackweel themem L a

Var(¥Y)z

(A pand Var(Y)

(]é)- - ¢ and Var(X‘)'

W and VarG0)

95.

(D)  p and Var(X?)

(E) Ans‘wer not known

- CSST/2022

nd Y are random -variables with mean z and

~ variance o and E(Y/X x)= ¢(X) Then the value of E(¢(X))— s

Tl @mn&@sua) (Sg;mmggﬁeu X whgd - Y égbﬁu.l :aurru_iuu LD!TQS]&E@&E@ gymef 4,

DAL L GTEDE T oHOILD E(Y/X =x)= ¢(X) erafléd, E(¢(X))— OSSR T
Var(Y)=- wmﬁuu——ﬂ.'%@m‘ '
&) pwppod Var(¥)
B)  u wpgd Var(X)
©  u wppid Var($(X)
@ # woppid Var(X?)
B o Asfuaido
 Faectorization theorem is founded
Neymann. .
(B) Pearson
(C) - Cook -
(D) Rao :
- (E) Answ.er not knovfn-
- gryant GHOOLD a@m.rr;%aﬁmsj'
(&) Gpiuoen
B Guret
W e
) g s
) oo Asfucidoe
'48__. : : : : ; 'f"._



- 96.

97.

If a sufflcwnt statlstlc exists and it is functlon of the
(A)  consistent estlmator
(B) unblased est:tmator

- (C) mlmmum variance bound est1mator '
W maximum hkehhood estlmator

(E)  Answer not known

@@ Cuingiomer SanenLo. G5 ({H eﬁsmi_asas Qu@@m&suﬁ?m é@@r@ﬁ)l_ e}mﬂ_|
(A) @un@gg@mL_u_i Log%]uﬁl_r_rrsw
-AB) - Lﬁlmggac#humg) mgluﬁl__l_rrm

T Lﬁarglﬂgu OTHIUT B euFibLy mﬁﬁiﬁl'_l_msmsu |
D) B0Qum Bspsse LDQC.HE@_.
(B)  elen. Qsfwuelorena

An estimator T, is sald to be a sufflment statistic for a parametric functlon y(@) if it

"_contams all the information i m the — regarding the parameters.

(A) - parametric functlon 7(©)

" (B) populatlon

| ey Mample

(D) function of .sam_ﬁle-.

" (E) Answer not known

T, Gremg) Ln;g_ﬂuﬁ'u_msmsu y(ﬁ)rarsmg) ngrr@;ﬁ &rrrrl_‘ﬂsw @urrgjmrrsm M GG Gre

' 2IePSHLILIELTU 6, umummeuuﬁ}em &mmgg aﬂeunrma;@m = e
~ Geuam(ib. ; e

@ . B y(@)

B)  wyow 95”@5”

- (C)  am

ay &a.Dl6or FTiTL
(E) v QsMweldame

e o  CSST/2022
: : : [Turn over



'_98'.' The sufflclent cond1t10n for consistency is .
(A) _Eg( n)_—)y(f?) as n—>o and VQ(T )—>y(0) as n—)oo'. -
®) V,(T,)—>0 as -0 an.d_'Eﬁ(Tn)—_) 0 as n—>o '
©) . Eg(Tn)e)y('Q)- as n—>o and Vg(ﬁl)—ioo as n—w
\9’ E,(T,)—>(6) as n—w and V,(T,)>0 as n—>&@
- (® ‘Answer not known ' = :
- @urr@g,g,mrrm mﬁuﬁ;pmmas@ Gur@mrrrao‘rjﬂug;g,mmasm
Q) E;(T,)—>r (@), n—>x Lngogjm VG(T Y= (0), n—)co
®  V,(T)-0, n>w wopd Ey(T) >0, n>w
©) .EQ(T )—);/(6') n—>o WDHYIL VQ(T)—)w n—>o
O E,@)>70), now oppid Vy(L)0,noe
(E) . el Ozflusidme e : '

99. Which one of the 'fc.:llowing'is correct (C.R,_ Rao) inequali_ty’? .

- | i : .

@ Var(t)<{a‘a‘}’(3)} - (B) Var()z B~ —
il )] el \( | [~ y(é’)]'

(C) Var (t) < L : YD) Var @z _ﬁzi__,__

0 . el
2 JeeL : ; e
e e

' (E) . Answer not known

. Spsmamiid &mmﬂmmwa&aﬂm sfwrer C.R. Rao &me&lmemm G@’?

&

e g

(A) t -em '-D"QP”@_ <{§% 7(9)} : (B) t -eo LDrrg_)Jurr@ > _%__—_—
<
[3% ¥ (9)] Sl (}%'. y(@)) |

e e (D) t-érwigui® 2-— 5

~ 2

=

) t-cgbfmrrg;urrg <
= {ﬁ_ th} e

- o8 - . d=-logLy .

(B o Osfludoms S _

CSST/2022 s 50



101.

(A) Gineil Fértility Rate .'

'M Specific Fertlhty Rate

(C) Total Fertility Rate

(D) Age--spemflc F ert_1l1ty Rate

-(E) - -A_nswer not known

S(THELET Gﬁggﬁmaﬂ S @gﬂuﬁhml_ esm’,rmﬂmtuas @aarrc»;m@ &mw&ﬁ@m@gmu@

SEAY Qur@ H(HEUGT eﬁg,m

(B) ALy a;@@m‘r aﬁ'g,LD

: .(C). 'ang,gas@eumeﬁg,m

(DI)' : suu_@j éﬂ;puq &(HeueT Gﬁg,u:
(E) - eleo @giﬂu_l@ﬁ]eumsu

Vital statistics are customarily expressed as

(A) percentages

(Vper thousand

(C) per mll_hon_ _'
(D)  per trillion |
(E) = Answer not known

2l L.;GiTGﬂUQHJGb aup&sLons efleuflésluBeus

(A) speiflssdler

B e gamss

(C) Boefluen pammse

- D) @L'Juu;__ L&éueﬁ?u_t-aﬁ_@ah@é{@-

(E)  sfes AsMuciideme

- 81

'100. The fertility rate computed with respect to any particular' factor is called

CSST/2022
[Turn over



102. If the Qalues 202 = .36'40, .EPf =1,22,000 are given, the_n_ the crude Birth Rate are -

(A)  0.029
(B) 0274

g7 298

D) 274

(E) Ahswer not known

.EDG = 3640, P .— 1,22,000 %aﬁ]me}u@gﬂ]@ﬁ Lngluqasm Greuﬂeu Q&uueoﬂl_rr Gnuiy @ﬁg;mrr@'rgj

@) 0029
(B)_ 0.274

Loy ma
@ 214

(E) &) aﬁlml_ Qs Rwefaama

.103. The age spemflc death rate for the bables of age less than one year 18 spemfmally
called - :

A) | neonatal death rﬁte
o .meant mortality rate
. I(C) : _m_étérnal mortality faté .
(D) foetal death raté .
(E) Answer not khoWn
@@ G)_ILL!QJ&S@I_UI_L. @%Qg;emg,asmﬂem mu_@ @,rﬂuﬁh_l_ G&uueﬁﬂur @may eﬁre__mb Gréim_lg,j
zﬂuurra; ; : -
A iﬁ]gjﬁémué &Hl:r.([ijg;.__@.ﬂ)liﬂ__] &b
® Ss@poudted
(C)  srtusTe Qo eisid
D)  wdismeeresa @iy mﬁéﬁm
(E) 'Gfﬂsml_ Glg,rﬂ u_i@ﬂsomeu

CssTi2022 - 52 o



. 104. - The standard nuﬁlber of births 10,000 oi'igiﬁating a life-table is known as e
| (A) - acohort ) | ' -
(B) initial 'population
| Vradix-
- (D) . pe14centage '
. (E) . Answer not i{nown
8 UL ST L euapamruila gwrer ApLisaflen sramafléans 10,000 eran < Tlgsme
10,000 arémug) ' ' S
@ oskh o
B) : Qg,m_‘_éaés-mésqam G]g,rrém.ss_
© sy o gob
D) . FHEIBLD
® o Gpfucdoss

| 105- :Populatioh.Statisti(ﬁs mainly display the reCOrds-pertaihing to
: (A) . foetal'déaths e | ' :
Sha W population of fegiof;’s I'
© morbidity '
(D) birth rate
- (E) AnSw_ef not known
mé;_&raﬁ Qsrevs Larafl efleuomang) —————— &Lbugg,aqrfsﬁr <24, 6L ST TBISHEDET QaualGeusnE
Lwern(hdng. : ok : '
. (A) : '@glfras@@&rrma;df': :
(B) LDGﬁETI;GD eunflwme LD@EBEGiT_@g;I‘I‘GtD_E
© Gpno | |
@ iy eisn
B e OsAuiaiaema
e e ' T ~ CSST/2022
i eg ST il : : : [Turn over



106 In Post- Independence India, the reglstratlon of Birth and Deaths Act was passed in

@

(B

1948

Answer not known

@pdur  sspfiers  9pe  Gpoy  @podeen  ufey  Qeiwb st
P p@DUILESFLILLL 2yaH - 5 o

@
®)
©
D)
(B)

1948

1959
1969
1979

' a‘i]sm_ @grﬂu_laﬁ]suana)

. - 107. Reed Merrel method of construction of abrldged hfe tables utlhses _

(A)

age specific mortahty rates :

Vcentral mortality rates

(0)  both (A) and (B)
(D) neither (A) nor (B)

(.E)_ _ AnSwer not known :

L Qm@gsﬁ]aﬁl @Gmg)uﬁlm g,u_lrrrﬂasasuuu_ FHESULILL %ﬁ_;srr .gu_l__suemmuﬁlso

L GSSILGEDS!: _

@) awgy-EAOGL @poy dsn

®  osu@piyeisn

© &) wppi> (B) @ranGi>

® @) opgid (B) @rardiidme

®

CSST/2022
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108.. :’C.onsumer Price index reﬂe(_:'.ts' on the priée changes expérienced by -
&) anindividual -
(B)  aparticular fé"mily :
: V all families of a popuiatlon _
..(D) i partlcular 1nd1v1dual Of partlcular populatldn
. (E) . Answer not known
msiGeut eflae @g‘ﬂ_tﬁ@- aTenLIGH _—-——_—Q-Gre'trrusur}rréo a@luaﬁlg,g) efleneo _Lnrrg')_gjréjasdﬂ_éh_ .
;Slr,rﬁlueﬁ! o 24@LD. ‘ ; :
| A) @@ sefipun
. (B) S0 @@ulﬁLL; GO UD
© 20 Ww®ws Qﬁ’-’”@:@ ”51@21 dTeT AW S5 @@LDUFEJESG”
D efudi Géﬁ@,@ﬁ@umﬂ S0 GHICL wﬂmuﬁ
E) oSl @g,rﬂmeﬁ]mmeu

1.09. The indéx that satisfies factor revérsal test is
W Flsher s Index | .
- (B Laspeyre s Index
C) Paasche s I_nd_ex
: (D) Walsh Price Index

- (E) . Answei' nﬁ__}t known

aaﬁqeﬁﬂmﬁbgﬁ @&r_rg)émamﬁmm ,rf,lemm.@_] Qe @LI‘-)_].LL?.}'_@I_GD:W.
A) ~Soafidn @A OL s | '
® b @uificn @RS O
©)  urefuldn @@USL@L@ '
(D) eundafin éﬂmauéa @O Gl :
B o Gstudoos

o e e e © (SST/2022
' ' e B 5 [Turn over



110. If Z plqﬂ == 535 z poqo = 365 then Laspeyre s price 1ndex number 18

B) 68.22
o
(I 147

ABY " Avswerrin known

Emey =835, Tpa. - 365 cnn iR el @gﬂﬁﬁ@;s&%@ﬁm semidl(Hs.

oy meaT _'
| (B) 6822
i
D 147

€ e @glﬂtuaﬁ!@_)smu |

111. _ If the index. numbe1 1s 1ndependent of the umts of measure.ment then it satlsﬁes .
(A) Tlme Reversal Test
; (B) Factor RéverSal Test .
G Unit Test o '
(D)  Circular Test -

(E)  Answer not knoﬁrn

(% @gﬂ u3|_@ GT R .@peo@asemm &rrgr@@;r)grreu 35 &I_GOTIJ@LD (Bg,n@u _
| .(A). .5nsomrrg)gj§, G‘a_arreq

('B)' amyent! LrHms Csita,
- © e Catey

D)  spps Cpiiay

fE) - eflerL @grﬂmaﬁleb@sv

- CSST/2022 o W g



- 112. TFisher’s Ideal Formula does not satisfy .

W Clrcular Test

(C)I

D)

 Gegiflen éﬁ]@Lﬁ]qu @gﬁr;n.b

(A)
®)
©

o
®

Factor Revel qal Test

_Tlme Rev_ersal Test

Unit Test

Answer not known

FpHél Cengeman

s;ﬁnemf] mnﬁ)QJ G&rrg,ehm :

_ sraoid LoTHE G&ﬁgmém

@46{)@# G&ﬂgysme‘:o‘r

aler Qsfweldee

: 113 Most commonly used index number is -

(A)

- Diffusion index number

\V Price mdex number

(©
@

(E)

ofs QUi gu:em@gg,uu_@m @gﬁ]uﬁf_@ GT e - '

@
(B)

e
(D)
(®

Quannty 1ndex number
Value index number- .

Answer not known

AsHlw @gS]uﬁ’I_GlL_GMT .

eflevew @HUI_GL_amr

siene) G uﬁi@?éﬁ“ |
oHiy GRS OL s

cllenL_ Qg,lﬂuaﬁlsi)eﬁ)su

57

@ SHLHLOSES.

— 260

CSST/2022
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 114. Ifthe correlation coefficient r is positivé.-then_'th‘e -regress‘i_dh coefﬁéients. are
' .(A) ﬁegative' ' |
(B) -equal

(D) greater than r

(E)  Answer not known

BLBpass Qs r %e‘m@ G{Eﬁ%ﬁ@@@éﬁ)#ugﬂ&i'@@ﬁlﬁ]ﬁh QAgm_iiy C?urré;@& G.aa@éscsmnsmg; .
& (A): Gfé,]r'ré;@_,f_ﬂ &GED.I.._UngT&S @@S@lﬁ'

) sibiarer e disrs Gk
O Cﬁg;r'ré;@;ﬁ]}o_mt;mg,rﬁés @@&@3&)

.(D) e wé CiepLiadl @[éllas'mrrias Qosen :

(E) ol Gsfiuedieme .

115. The lines of regression intersect at the point

@) (X,7)
7 X7
© (0,0

@ (o0,

(E_) Answer nbt known

= Qs @u_rrés@és Gesrr@aseﬁ Geut_ g & Qamerierid Lyarefl

@ XY
® XY
© 00

® (.0,

(E) elen Qgfuweléana

Gssweezz: - 58 " el



116. - The average age of 50 students in a bus is 20 years. When the age of conductor is
1ncluded the average age is increased by one year. The age of the conductor i is

@ 51
‘(B 55
\V 71

D) 50

(E) : AJ_lsWer not known -

R0 Gu@ﬁ_@@ o grer 50 mﬁemeur‘ras’aﬂén FynEl euuIg) 20.:5u([5|_,r'5w;eﬁ. BLSglenilen elens
Cai@bCUTE srmefiuTas) @@ aiL b Sigsrang aafld BLGglerflen LIS :

@A) 51
(B) 55
_ iy 71
@ 50

(E) eﬁlml._ Qs flwelerena

117. How many points which divide the series into quai‘tiles_?

QA 4
o s
€ 2

o
(D) %

(E) Ansﬁver_‘not known

. g OsTeny _5rréb1.nrr‘éyrré1.ssmrras FTESEaT LjeTeflgeT iﬁ]lﬂésﬁsiﬂﬁ)m

@ 4
o
- 1
® 7

(E) o @g,rﬂuaﬁ\svsmo

§ oo . o CSST/2022
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118. The Geometric Mean of 3 observations on a certain variable was calculated as 2.
Later on, it was discovered that one of the observations was wrongly included as 3
instead of 24. Then the Geometric Mean of three correct observations is

TR
C) . 16
@) .27

(B} - Answef not known

(M @rﬂﬁiﬁﬂLL. :LD.IT[_TS_]LIS]GEW Lo ey ILDQC;]ILIL_[;BSGﬂG'W @u@é@é_&l}n&rﬂ 2 erem semTaESIL LIl L g, Eﬂsﬁu .

Qs eparm WAL safe, & Sy 24 g,;;uggéi)rras- 3 era Gr@_ggjé;G]aérr@'rTarruuL'_l_g,J arenfled,
aflwren apenn wHisafler Qunaes symef, iy e

@ 3
® 4
(.. 46
W)y 27

AR silenL. Wgflweldamea

119. 10 is the mean of a first set of 7 observations and 5 1s the mean of a second set of 3
' observations. The mean of a combined set is given by '

N TE
g 85
' © 10
@ 15

(E) Answer not known

7 efleuriiser QamesrL. @gé} @g,rr@ﬁ]uﬁ}eirr &ﬁn&rﬂ_ 10 Lng')@i_b_ 3 elleurniser Qe @) remrL_mb
- Qsreduldn synsf 5 erafler wicued(m Csredsailen Gameanhs srrefuder iy

& I8
(B) 85
) 10
D) 15

(B oL Opfucdome

e . . gy bia



= 120.' If the Ge:ométric Mean of x', 16, 50 be-_'ZO then the vélue 0‘_f xX1s

@

(B)

e A0 s

20

.__Ww

121

()

®

(A)

(B)

(%)

(D)
5

4

Answer not known

x, 16, 50-an Qusssp syrsil 20 crafled, cg{gsﬁﬂ@wm x -6 ULy

. 40

20
10
4

- eflan Qg flwelildene

The suitable average for qualitative data is

(A)

- (B)

L ®

O
(E)

@

®

- ©

D)

Geometric Mean

, _Arithmetic_ Mea_n

Answer not known

- Lamye e ThIsEREE QUTBSSITET symsf

@_u@é;&sb &_Urf&rﬂ' 5

gl (H& synaf

; @ém_‘rﬂma} .

wab |
eflenL GgMieiidee

61
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122 Among the given sources ‘which is not a source of secondary data?

(A) = News Papers and Periodicals (B) Pubhcatlons of trade assoc1at1ons
(C)  Research Papers i @ Sur Vey for a spemal purpose
(E) Answer not known

- Oarhssiul_Herer .%,g,rrrjmas@ﬂm 6Tg) @U‘@UTI_H‘LD Bleney Ljerer] aﬁ]ul;rrajas@jaaasrrm %gngdwm@) 7
(A Ceudssrarser WHNID LiHey @gggassrr B) Qsmfpsrsisaier 9y Q@Jmﬂuﬁ’@asm

(C)  ormiLsis sL_(Denyaer (D) @@ @gﬁ]ulﬂu_ Ggmsua;aarrecrr SanéClas(HILIL
(E) e9enr Qsfluieiieene : Sk

123. Let Xbe a random varlable with the followmg probablhty dlstnbut]on

X" =3 6 9

PO T L1

| - - 6 % 5
then the value of E(X?) is ' 2
@ =2 i
(© 93 _ e | i e ap ?23

(E) Answer not known : : :
&Qyp OGsr@ssiu_Herer X eremp g(h swemily wrdluler Hepsse ureuisE
E (X?) -en iy : T . : e T

SR e SR e
S e
2.3
11 el
A) = (B) 11
e | e 93
(C) 93 : _ E

(B  e9er Gg,lﬂmaﬁlsuemsu

124. If E(Y/x) is the cond1t10na1 expectatmn of Y given X=x, the E (XY ) interms of
conditional expectation can be expressed as

@ EQV=EMEYR)  ®) EEVEWEY/
© EQXY)=XE(¥[x) = \g;rE(XY) E[XE(Y/x)] -
- (E) Answer not known _
E(Y/x)arenug X -eows &rrrr;r)g, Y- uﬁlaﬂ @u,r_r;gsmm Tl LMLy .%g,sorrsu élggem E(XY) -@niLl
Bupgean erliunmiy eumasudld GHudheusreg X = x .
&) EXY)=EX)E(Y[x) - - & E(XY)nE_(Y)E(Y/x)
© EXV=XE{¥/x) = (D) E(XY)=E[XE®/x)]
(E) eflen Qs flwafevaney - bl :

- CSST/2022 - ©e _ £



125.

If X be a continuous random variable with -proba_bility density function .

f (x)=ax, .5 DEEETE
=, : ]_S.'JCS 2
. =-ax+3a, .2£x£3

=0, . clsewhere

~ The value of a is : : _

o . W

(E) Answer not known

X Gré'rugg @g;na_fr sweumiitiy ol erafle @g;e’n‘_r (lﬂ&s@ga;aq SILTEH Fmiy

126.

 f()=ax,  Os<xs<l

=l 1<x<2
=—ax+3a, 2<x<3

L - wpp @ hisefld erefled |
@ e i = s _
@& o Rl . @By 0.25

el ®) 1

B oo Gpflueddma

If X is a random variable with mean u and variance o2, then for any positive
number we have P{X-p| >K':y}<KL is | |
(A Blenayme Chebychevs inequality %hebychev 8 1nequahty

' ('C) Khintchine’s inequality _ (D) Lyapunov’ s inequality -

: (E) Answer‘ not known 1

X GTEm &LoaJrruJul_; mwgﬁ]uﬁlaﬂ &l;rrr&rﬂ ,u mrrguurr@ o Grsnﬂa) qr@g,@jm G;r;nﬂsm_ Grsmmneﬂu_l

. K-aﬁ]p@ P{|X ,u| >K0'}<——— TEmLIg) ~—~—-.—-%@Lbﬁ:' '

A) eou Cg‘l’_f')LIS] Qe QaGladlulle &maﬂeﬁ’l - (B) Qx9efulen &LDGDﬂGkS]
©) aamﬂmmﬂasx Cileata (D) Swrtiyenmas swerlel
E) aﬁlmu.@g;rﬂusﬁlmwm - . '

63 P E o CSST/2022
: e [Turn over



exceeds the number of tails?

@

©)
- ®

6 ‘r_r;rrsamu(e_f,mg aﬁaﬁr@m @urr@g,j L, aﬁl@susmg, asrrL_Lq_guu:. SO0 Fls mmmswﬂasmasuﬁ]ev'

64

11

64

15

A'nswer not knoivn :

aﬁl@@ugmasrrm ;61.5;1(.9'5&;996&661 SHITEHTS.

(B)

127. Six unbiased coins are tossed.” What is the probablhty that the number of heads

15

32

\(11

15

. 11
o 2
5 _ ® 5 |
(E) - efleni_ @g{iﬂu@ﬁ]ebmen

128 - From a bag contammg 10 black and 20 Wh1te balls a ball 1s drawn at random Find
v the probability that it is black. .

G

5 :
o« L --(B>
2 A :
(C_)_ § : (D) 1
(E) Answer not known

- 10 sguy whmd 20 @@Jmsﬁ)m Libgiser Qg e 26 aqn_sm_uﬁlsu @@ﬁ@] @@ LIBS) G)JITIJ.JI_ILJ
'(y)snmuﬁlsu m@aa&uu@a%lg)@ Gr@asasuul_l__ ugsg,j a;gnuurras @@uugma;rr@‘r ,rﬂas@g,asmﬁlmemas :

. ; SSH'GMT&S
s 1
@ = ®
- ’ .
— D) 1
© = ®)
(B)

eflenL GgMwellcvenay

CSST/2022 64



129. The rélation'ship be1:_v'\r.een.4th central fnoment and cummulants
o L K,I _ : il
ek
- y Hy =K,y “"SKf
(D) -k oak
(E) Answ_er not known
pransag) ol B ué-'ﬁm@%@m G HEGLD &&@T'Q,&)Wéﬁu o
D m=K " - |
® wmeK
© 'p4=K4+_3K§'.
(D)_ _ }-14 %K4"—3K2_2'

B) o Osflueidmm

130. The conditional probability of B given A is

" P(AuB) - e ALY
imeme L G e
W Bachy e an ..(D')" P(AnB)

Py = P(B)

@ Answer not known |

Hlapss A ELE@QQLFQG'N sigliteLie Blspsd B -er Blubsaar (r_f,lésggg,asm aramUIg|

o PALE P(AUB)
LA s e
@ PUnB r e ™ PIACE
P(A) = P(B)
.. (E) elenL OpRwedcrenas
D 2 o e e _ ~ CSST/2022
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i3l A problem in Statistics is given to three students A,Band C whose chance of solvmg

it are % % and i respectlvely The chance that the problem w111 be solved is

- o (B)_. 55 - .
e e - : -632. S o

- (E)  Answer not known

3

| oo

Yerafludwied um_ 86 e sasoms Siiude A, B wimib C ssrar eumiiti panpGu 5

LDDHMILD = e DABG s E SiSaLILHaSHETET eumiLLITeng)

B | . L
. A) - o (B) 32
G- e iy B

o (B MeL Asfwedaame :

132. If A, Ay, Ay, A, are said to be mutually independent, then the total number of

conchtlons to satlsfy the mutual mdependence is

)

(E) Anewer. not knewn _

| A, Ay, Ay, - A, eraLg) @m@]&@&smﬂg &rrrru;pm ,rfﬂasgg&#l&m srcnﬂsn @g} ;_F;Tsurrggl @&mu_luur_
i Ceuastig wi G]Lnrrg‘e_r, ﬁumgmm&mﬂm Grmemﬂa;sma; Grsurug,j X :

e
B

B (®) 21
D). 2-1-n

E) ofen Gg,rﬂ.u_iaﬁlé.)mm :

CSST/2022 | e ek . o



133 The F-statistic is defmed usmg two mdependent e variates:

W Ch square

Binomial
©€) Stan‘dard norh_lal
| (D) Poisson .
(B Answer not knowh
- Qbs @\ &rrrrumg) LDITﬂS]&SGiﬂGGT @,psom F-&QI LIGRTLIGTEnE eumuugjasaauu@é;lgjgj
A DECUTES : -
®B) ,W@@Juu mrrﬂ
(C)_ g;:;rmrrem@u_usuﬁmeo mrr;ﬁl
D)  umisne wd

®) oo Qsfueioreae

134. _The'c_hara.cterilstic functior_l_ of :chi. square dist.ri._bu’.cion.is
& daar |
| (B) _ (1+2ir)“f2-.
N (-2 iny 2
Sy e
.(E) .._An's_wer _nbt knbwn :
S e e ADHS L St
@ a-2ipn
®  A+2i"” _
@ a1
@) a-z”
(B)  ofeor Qg,fﬂu_:aﬁla'asbéu .

R e _ 67 - . : i CSSTI2022_'
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135 The value of statistic ¢ to test a hypothetical value 20 of populatlon mean from a
sample of size 10 havmg its mean = 18 5 and variance = 1. 21 is

A ~a71 -
@B  -lL16
©. 30

P 431

(E) = Answer not known .'

@@mw Qsr@dluden ggnefl 20 erafled ggaﬁﬂairr 10 sapsailer ggpref - 18.5 WHMILD
orpur® = 1.21 @b, ins a@mn@ﬂaaeuul_g (PpenLd G]g;rr@ﬁsmu_i t Gerpenenuller
m@@uq Loé]uurremg,j :

@AY am

® . ~11.16
Ky 3
D) ~4.31

(E)- siS]sﬁ)z_Qg,rﬂ_u_l@ﬂehmso =

136. The range of normal distribution is :

(@A) Oton
(B Oto @
(C) -1lto+l

. y .—oo-to + o0

(E) Answer not know_h,;

@msﬁﬁlanev LiFeuedl e GTEDENE LI TEITE]
(A) O @g,e'i;,n QUGN
B) 0wsd © ey
R
B s e s
W e Gl
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g7 The distribution possessing the memoryless prope'rty 18 .

138.

(A)  Uniform

(B) Poisson
\_V Exponential
(D')" Normal _
(E)_ Answer not known.

' ‘ﬁa)sﬁréﬁldﬂs&m Q&TeTens L. enL_LLI LITeue)

(A  SyrerLreid
(B) '_ L i ua‘eﬁé
(©€) <9|®$@§Q§,ULff-u Teued
D) @wéﬂﬁlmwﬁ LITeued
(E) S @g,rﬁuaﬁlsbcmeu_

The mean deviation about mean of normal distribution is

@ o
® o

o i

(E) Answer not known

(15 @u_léolrf;]éﬁmu ul_;_ra_leﬁleh g synefluiL_gg symned G:Slméaasq.b.. =

@ o
® o

(E) :ﬂmL-GgﬁMQﬂémm

69
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139. The moment'generating function of the Poisson distribution is

- W e}t(e‘-n
® e
© Suh
| (D) e%fgt;lf -

: (E‘). Answer not kn'owx.;._ '

: J_J_rru'_férrs'm uu@_téﬂrairr ﬁ@u qgﬁmmsﬁr g&@@.rrré;@_fﬁ &L
@ D | | |
@B i
(©) RTECS
i

(B e Gsfucidma

_1.40.__ If X and Y are correlated varlables each havmg Poisson. dlstrlbutlon Then X+Y
cannot be : : : :

(A)  Binomial Varxate :

\@’ Poisson varlate

(C) Normal variate
(D) Hypergeometric Vai'iafe'
: (E). Aﬁswer not known -
Xuapg_pju:) Y Gr@rrm @\ gasr(p) @L@g)eu mrrpfﬂ&mﬂsu LIMLIGUITET LIFaUane G&nmq@esﬁgg X+Y
- eranp ol SDSEHTL GTHIGUTE B)(HéSNS|? -
@ mopiy o
- (B) urfu‘.rémrrs‘crr wml
© @uéfewuvr
D) SQumsewrl
(E) oo OsMweldene

cove 0 g o n



141.

142,

Forty percent of busmese travellers carry a laptop In a sample of 15 busmess
~ travellers, what is the probablhty that exactiy three will have a laptop’7 :

(A)  0.0132
(B) 0.0231
©  0.0972

(E) Answer not known

; oLy ‘rﬂL&gg,mrrés umémTLb QaiCGeurfléd 40 s56ldlsp WremeaurseT Lolqéaaéasnﬂenﬂ o L ar ar(hSsl

QedLeuiseT. oifle @@@gﬁ gaprs 15 uweflgamer aHEST, . apem) g_ﬁurr SLLTWIHDTS
olg S& et el smeug,,a%]@uueurra;srr Grarrug,g)a;rrsm ﬁasuapg,asaﬂlsmem FoLS.

(A)  0.0132
(B) 0.0231
() 0.0972
D) 0.0634

(B Ao Gpfudidon

Find the value of ‘D fof'.a binomial' rapdom. varia‘iﬂe X, if n=6 and lf
- o = iy
S B p=—
&7 r-r o
| 3 RO
© »p : @) p :

(E) Answer not known -

FEMIHLIL UFeueiled 72 6 gl 6 Graﬂ@p -Gt mﬁuﬂmeﬁr SIS,

9P(X=4=P(X=2)

e e
A L B) p=—
@ p 5 M p =
el : 3
C — D) p=<
| () o | (D) p. 5
) e Gsfueicene
At ATeer e | CSST/2022
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143. The maximum p0531b1e number of orthogonal contrasts among four: treatments 18

B6IT(S G&rrg,emam @un@i_asmﬂeu cygﬁ]esr_lt_& surrLuuqmm Cpir el aﬂr&,ﬁ]u_lrr&masmﬂem

A four
W three

) e

(D) one

(E) Answer not known
cianeléama

® prae

B e

©)  Gran®

D) gom _
B e fefidies

144. The information from an experlment stablhzes when error degrees of freedom is at

least

(A)

®)
&

P 12

- (©)

6

8

(E) Answer not k_nbwn
ﬁlsmg é;l'_Lq_GirrsmLD sl @mmﬁ,‘ggul'_.ab
S&E6uE Hlane bﬂm@é’ail@@aﬂm@
Q) 6 e
@ 8
© 10
@ 12 | _
C® e Osfluddme

CSST/2022
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145.

146.

Degrees of freedom is related to

(A - hypothesis under test

~ (B) number of observations in a set

V number of independent observations in a set

(D) number of dependent observations in a set

(E) Answer not known : '

cSEI;Lq_éjTG@LD &0 GG e 6o Csm_Myenwgl

Aa) Csmdlés B a@Gamer :

(B G, G(pelled 2 e GBGWTI_[_{)](I'I_-')§ i safier Grsmmﬂa;ma;

€) @mewele e drar sniupn sar_Plibs wEiLsafar crarmisms

D) e ewed o drer &rrrrqmraﬂ e;emTL@Eg dlUseflar mmmﬂassea;

(E) eﬁ!emr_ G]g,rﬂmaﬂeuemo _

Ina completely randomlzed design with V treatment and n experlmental umt the

error degrees of freedom i is

@ V-1 S v

- (Qfn-V-1 e n-41_

(E) Answer not known _
@@@Jg}m afen  eumLOILTSSILLL ﬁu_g,ﬁm V BLSSH @omme;@m n - Gergenar

e mliysEnh @i é]emgg SL1q STENLD S TG 63T crarenflGens

147.

By Vi s W Ven
Tomma s D) n-1
() efew G:E_Brﬂu_iaﬂsuemu i A

For which design the number of rows, number of columns and number of treatments

- should be equal

(4) CRD
(B) RBD

(@/ LSD

(D)  One way ANOVA

(E) = Answer not known |

GThs S omcmmut_(ﬂg)@ fHlrovseflen cravmantsans, ﬂmga;eﬂm mmmﬁ}e;ma; wmgﬂm ‘Ibi_g,g_’)]
@pemg)&m é{@ﬁ)Gﬂg@j}LD LD Greozrrmﬂaaemauﬁlsu BmEGID .

(A)  CRD (apapgib e aimitiunssiint L §L L)

(B) RBD (s airiiiiy s._05H L Cengemen si@wliL])
(C): LSD (gesden gy S 1d) : .

(D) ANOVA (@@ eufl oy urrl_@ u@uurru.leq)

(E)  &flenr G]g;rﬂu.laélsocm)

w0 ~ csSTi2022
' : : : [Turn over



- 148. Princ"ipl_e Qf inertia of lafge numbérs"states that

W Larger the size .of the sémpie,- more accurate the results .
(B) Smaller the size of the sample, more accurate the results
(C) Larger fhe size of the sample, less accurate the results
I(D)- Smaller the size of the sample less accurate the results

(E) - Answer not known

' afqg]a; craimsoflen wp'_f;g Hlana gg@'@m sﬁ@mg ‘
. A aaxgg <eieTey &g]arﬂas@m Quirpa (Plq-6yeir é@&; gjavaﬂmmrras @@5@m
(B) ahrcm Sla6 @Gmggu_;m Gurr@@ Q,mq,sqasm 2138 Glovedlwions @@eﬁ@'m
(C) &y Siare] &‘é,]asrﬂas@m Gurr@@ P0USET GODS SiDSLLTE QHEED
D) wmpseray @mmu-lm Guﬂ@gu (plq-6y&alr @'Gmﬁ)!ﬁﬁ @weﬂwwm Qs
(E) aﬁ]sml_ Gg,rﬂum‘jla)msu

149. A population is perfectly homogeneous 1n respect of a charactenstm What size of
“sample would you prefer‘? ; :

A a large sample
(B)  asmall sample
\V a single'iﬁem -
5 (D) 1o item :
(E)  Answer not known
) @p@emm@gprr@é,] @@ @gﬁlulﬁh_l_ Uemer &Lq.uusm_uﬁisu &rﬂturra; @g,g; uGqummg,rras '
- Bosdng. aps Sapevaneney frisar ngg@g,@ulﬁrrasm’P
@) '@@GU(DFEJ&@J
(B)' - 90 fpamy
. ©  Grgw &_@D_-u#
(D) Gr‘iﬁg_.;&(njuuqum @eosmv ;
® e Ggfluaioma

- CSST/2022 e e : 3_' . o



150. Sampling fraction -«% is negligible if it is.

o

B)

O

(E)

- aa LEI}.@TGWL-D % Greirrug. @@.GUWQI @@;’5,5#51) _uﬂ)ésgssﬁuﬂéﬁsesg gésas 2T |

A)

(B)

O

D)

@

<1%
<2%

<5% -

. £10%

- Answer not known -

<1%

| <2%

- <56%

<10%

efflenL @g,rﬂu__léﬁ]éuemo

151. The number of sampling units in each cluster should be

4)

different

Wet;ual'; i

(©
(D)

_minimum

maximum

: | (E) : : Answer not anWn"

 gaQaung Araié 2 érer wTHA SiEsaien sraimenfisens

@)

®

(©)

@)
B

 Gaumiiid

FLDLD

Smyotb .
Gu@'me __
eftewL_ Ggrﬂweﬁlebemsu“

75
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152. In clusters S-ampl.ihg the units are

(A) Overlapplng

W Non- overlappmg

(C) Homogeneous
(D) Non-Homogeneous

(E) Answer not known

g‘,]r;ehﬁg,é; V] @psmg)ufﬂan ammé@_am@ﬁ@m '
@ CGopuegerewe

B . Cujligss Garsesiser

© @5 L enaneve

D) @b ueﬁﬂumi@.su"

(E)  efer GlgrflLUQﬁlébmaJ

1'53. When a random sample 1s drav;rn from each stratum, it is known as -
(A) Slmple random samphng .
- (B) Probablllty sampling
(©) Purposxve samphng _
W Stratified random samplmg
'(E_) Answer not known |
@@err@ u@méuﬂ]aﬂ@‘rjagl.b 6'}_IrTU'_IL'J.L|<§S QP HEELD @un@g . eTemenl ey
DieEsiLGADg . | - sy e
& o mmmq_al@g@gg,sb
(B) ﬁasgnéw'_h@m@éé@-
©  Cpmssepdrar B Catay
D)  LE®s amiiy 2 OnBssd
- (B) .amm_@g;rﬂmﬂ-@m =i

tlgwe. - e . T



154. While

data from external files are impbrted to ‘minitab’, —————— are treated as

missing values. -

®)
©
(D)
(B)

 Qeuerfl

W*_andblank_ ;

* and .#_
blank and #
# and ?

Answer not known

(Eémf_aqa;srﬂaﬂ@;r_'ﬁgj Suriisener ‘minifab’—é;_'@ @[{)é@mgﬁ Qb Curg e

- gdlwar eflGULL wHULSTTES GlsmereriiLiBib.

Q) * wppib sred GLib
B *uoppo#
© srdd @Lbuwbpb#
D) #wpgd?
(E) .aﬁle&m@gﬁ!uaﬁl@mm'
- 155. SAS is stallrté\d,'there._.are . — main Win_do_Wé-open-
e . .
®) 3
©r
s

E) - Aﬁswér :m_)t known
| SAS BBt L i ————— b gerardsdr sl Qararar
: (A) 2 | '
® 3
© 4
® 5 |
® o Asfusiome

gge oL L0 CSSTEeR
: : B [Turn over



156. In SPSS, the test used for testlng the mgmﬁcance of the difference between three e
more groups, based on thelr average ranks '

(A) Kelmogerov-Slmlrnov Test
(B)  Levene’s Test *
©) Wald Test -

W Friedman Test

(E) Answer not known

SPSS 60, epedy cﬂ;ueuevgj SBDG Gmmul__l_ G (PSS EHES @GETE_GU_IUJHGDT efgHuinsn,
cweumiﬂem &r,rrr&rﬂ g,geuﬂem&eamm auq_uuem_u_lrrasas Qesrrem‘r@ iy ammrr_r;gegrr GTur G&rrg,smafr

AT, ggeqm (Eerr.g,smaar e
(A) (Ba;r_reu(gmrr Ga;rr@r;r_rreﬁ - fAirare Cangane
e Al @so@eu@amuﬁ]am (B&rrg,mm | |
- Aes Gaud® Comsanps
(D) . oo_rﬁl@-mUQGLDsm Gengeem
(E)  ofewr @grﬂméﬁlebmeu

_' 157. - The extension giye'n to SPSS data file is

&) SPSS
L W e
D) pdf

| (E) Ans_Wer. not known

SPSS -6 siyey Ga;rruqas@ gy g;a;ruu@sugﬂ u.urr@g,anﬂcu '

(A) SPSS
(B) doc
(©) sav
D) pdf

(E) oo Osfuaideme
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158. The statistical function used to calculate the arithmetic mean of the given data in

MS Excel

A4 - AM()
(B) - MEAN()
(©) ARITHM()

P AVERAGE()

- ®

Answer not known

- MS a6Qseld, gl (Pésrrefen s sasdl 2 sa|b Lerafluflued smiy

)
®
©)
D)
®

AM()

MEAN()
ARITHM()
AVERAGE()
eflenL G Mweldene

159. Short cut key is used for selecting entire text in MS Excel -

MCtrHA

B) Ctrl+B

(C) Ctrl+S.

(D) Ctrl+]1

(E) _Answer not known
MS Excel @6 @ eemouun Gsipdsdss epnée Qi@ oos
LweGEsILGEDS.

(A) Ctrl+A

(B) Ctrl+B

(C) Ctrl+S

(D) Ctrl+]1

E) e Opflweldame
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